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Candidates are required to give their answers in their

own words as far as practicable.

1. Answer any ten of the following questions:

2x10=20

- w5 2rz Teg wie ¢

a)

b)

d)

What is set? Give an example.
“A” oS P @I 2 @3 Sviigaet s |
What do you mean by 'Union' of sets? Give

example. . iy
) 31027 'Union' 39108 9 (@RI 2 Swizzel 71 |

_IfA={1,5} and B=(Sneha, Abdul} then what is

the cartesian product of these two sets —A and
B? ; :
M A={1,5} =, 93 B=(Sneha, Abdul} wiz Tex
T PSET werwet Iz 2

What is meant by denotation of a term?

CICTT 2T AN FeT00 [ @RI 2
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g)

h)

)

k)
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Give examples of a definite and an indefinite
term.
e e Wﬁﬁ@ AT SUIRRA WIS |
What do you mean by an essential property of a
thmg" Give example. '
I Reacaa e of s B @R e Sz
e | '
What is meant by a differentia? Give example.
Rrens wice T @RIR 2 Snrege we |
What do you mean by AmB?
ANB TS I @RI2
Expres's the following sentences into set
notation:
fFafiRe ITehis chRfs e 9 ¢
i)  Planets are nine.

ARBTE TR I |

ii) ~ Planets are luminous.

SRS T |

What is meant by Ordéred Couple? Give an -

example.

R T TS R @I 2 G Ttz e |

Give an example of family relation which is not

transmve

WW@WW‘TW QB WFTF T
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2. Answer any four of the following questions: -

- v1af5 aea Teq wie ¢

‘a)
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What are the domain, counterdomain and field
of the relation of being a grandfather?

 fPrerg ™% domain, counterdomain @ field
e

Describe the logical character of the term

- 'blindness' and 'blind person'.

WY 6 THFE — G2 A (A el el
F4I

Give the definition of ~property with example.
VB I SIS 4 F¢e WG |

Test the following definition :

fAsfiRs siceB 3 w9 ¢

Tranquility is the absence of unrest.

211 2e1 ST wrerq |
5x4=20

Find out the truth value of the following cases:

5w oA 0 Ty el et 2
If A=B and B=C then A=C
If AcB and B C thenA=C

" If AeB and BeC then AeC

If AeB and BcC then AeC
If A=B and B=C then A cC
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Test the following for consistency using Ven
diagram: |

coalbeaa e FekiRke @ s v amefEs
g ol W [ orans 2

BNC=a

(ANC)~B=A
(AnB)~C=A
(ANB)U(BNC)U(ANC)#A

Distinguish between equivocal and univocal
terms with examples. ;
IR SRR @ s AT S A1 |
Prove that empty set is the subset of every set.
e 9 (@ X (i @ Ciet e B

Let A={1,2,A}, B={2,4,A}

Find the following :

1 T, A={1,2,7}, B={2,4,A} |

ffRosk F z@e

). AU

i) ANB

iii) A~B

iv) B~A

v) {A}NnB

[4]

Y

To which of the predicables does each of the
following predicates belong?

fasfiie RuemeE @ REEes oege ?
i) A triangle is three sided.

<= fage =0 fom aeRfE |
ii) Netaji was born in Cuttack.

(TG FOCF TR FCARE |

3. Answer any two of the following questions: -

@A ¥ aei e wie ¢

a)
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10x2=20

i) LetA={12}
R ={(L,1),(1+1,2),(1,2),(1+1,1)}

Is R reflexive and symmetric in A? Explain.
3

QA IF, A={1,2}

£ {(1,1),(1+1,2),(1,2),(1+1,1)}

R A @e T 93 TR 2 I 9
i) LetA={1.2,{1}}

Give an example of binary relation which

is reflexive and transitive, but not

symmetric'in A. v 3

QI A={1,2,{1}}

-l e G G 7B we T A

A CFCa PTEES G T, 75 T

CEA
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b)

iii) Let A={Napoleon, Wellington}. ).

Can you give an example of arelation which
is irreflexive, symmetric and transitive

YA A7
#al TF, A={Napoleon, Wellington}
@ T TaEel Grel R TSI A A AT
FEATHS, AN 8 TN ?

iv) Give the symbolic expression of a relation

R which is antisymmetric in the set w2

. R a0 A~ antisymmetric — @t
_IARCSTOF Tl e | ‘

Test the Qalidity of _the following arguments by

- Venndiagram: 543
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Wwﬁﬁ%ﬂ—mmhmﬁm
393

i) NoBareC
AllAare B v
- NoAareC.
@ B C
A A B
. @HATC.

[6]

‘c)

)
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ii) No virtuous people steal from the poor.

Some Americans are virtuous.

- Some Americans do not steal from the

poor. ' ‘

@iF e e vy Ifes I (A pR I

A1 @I P SR 2 Afske |

pR¥@a '
What do you mean by Predicables? Give
example, How many predicables are there,
accdrding to Aristotle? Illustrate with example.

. 4+6

s ece N @RI 2 Twiggd wis | ifpeoa @
(1 RO 2 O, TRl 72 SIT 11 A |
What is definition? Give example. Explaih in this

connection the notion of genus as a part of

~defining an object. Say, why genus and

predicables both are necessary to define an
object. ' 3+4+3

Rl A TH e 5 9 @I ? SR W8 | G
g2 ol fimmeldl e e’ erorifba SieR <t

F@ | @ G T W @, @I Rogg @ e
if® @ REEs — SorEas WRHFO! W= 2 FACHA

- TeaWie |

(7]



